
 Lesson 20 Exit Ticket 3•3 

Name Date 

1. Place parentheses in the equations to find the related fact.  Then, solve.

a. 4 × 20 = 4 × 2 × 10 b. 3 × 30 = 3 × 3 × 10

  = 4 × 2 × 10  = 3 × 3 × 10 

  = ______ × 10  = _____ × 10 

  = ______    = _____ 

2. Jamila solves 20 × 5 by thinking about 10 tens.  Explain her strategy.
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 Lesson 21 Exit Ticket 3•3 

Name  Date 

Use the RDW process to solve.  Use a letter to represent the unknown. 

Frederick buys a can of 3 tennis balls.  The empty can weighs 20 grams, and each tennis ball weighs 60 grams.  

What is the total weight of the can with 3 tennis balls? 
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